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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write First his/her Roll No. on the question paper
compulsorily.

2) g^r àíZ hb H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory to attempt.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m ‘ | hr {bI| &

Write the answer to each question in the given answer-book only.
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IÊS> - A

SECTION - A

ghr {dH$ën MwZo (~hþ{dH$ënr` àíZ) … [14 × ½ = 7]

Choose the correct option (Multiple choice questions) :

1) bú¶ àm{ßV hoVw VZmd H$‘ H$aZo Ho$ {bE {H$¶m OmZo dmbm H$m¶© h¡ - [½]

(A) ñnîQ> bú¶ {ZYm©aU (~) H$m¶© ‘| Ambñ¶

(g) ^¶^rV hmoZm (X) H«$mo{YV hmoZm

Work done to reduce stress to achieve a goal is -

(A) Clear goal setting (B) Laziness at work

(C) Getting scared (D) Getting angry

2) dm³¶ H$m dh àH$ma {Og‘| Ho$db EH$ hr H$Îmm© hmoVm h¡ - [½]

(A) gmYmaU (~) O{Q>b

(g) (A) d (~) XmoZmo (X) Cnamoº$ ‘o go H$moB© Zhr

Type of sentence in which there is only one subject -

(A) Simple (B) Complex

(C) (A) and (B) both (D) None of the above

3) {ZåZ{b{IV ‘| go h[aV H$m¶© H$m bm^ h¡ - [½]

(A) n¶m©daU H$mo IVam (~) n¶m©daU H$s gwajm

(g) OZg§»¶m d¥{Õ (X) Ob ñVa ‘| H$‘r

Which  of the following is an advantage of green work -

(A) Threat to environment (B) Protection of environment

(C) Population growth (D) Decrease in water level
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4) J«mhH$ godm ‘| g‘ñ¶m H$m nVm bJmZo Ho$ MaUm| H$m ghr H«$‘ h¡ - [½]

(A) {dH$ën H$s nhMmZAÝ¶ {dH$ën H$s nhMmZ{dH$ën H$s nw{ï>{dH$ën H$m M¶Z

(~) {dH$ën H$s nw{ï>AÝ¶ {dH$ën H$s nhMmZ{dH$ën H$s nhMmZ{dH$ën H$m M¶Z

(g) AÝ¶ {dH$ën H$s nhMmZ{dH$ën H$s nw{ï>{dH$ën H$s nhMmZ{dH$ën H$m M¶Z

(X) AÝ¶ {dH$ën H$s nhMmZ{dH$ën H$m M¶Z{dH$ën H$s nhMmZ {dH$ën H$s nw{ï>

The correct sequence of steps for troubleshooting in customer service is -

(A) Indentifying alternativesIdentify other optionsoption confirmationselect
option

(B) Option confirmationIdentify other optionIdentifying alternativesselect
option

(C) Identify other optionoption confirmation Identifying alternativesselect
option

(D) Identify other optionselect optionIdentifying alternativesoption
confirmation

5) J«mhH$ go à{V{H«$¶m àmßV H$aZo H$m gmYZ h¡ - [½]

(A) à{V{H«$¶m H$mS>© (~) gmoeb {‘{S>¶m

(g) J«mhH$ gd}jU (X) Cnamoº$ g^r

Means of obtaining feedback from customer -

(A) Response card (B) Social media

(C) Customer survey (D) All of the above

6) ‘m¡{IH$ ê$n go AnZr {eH$m¶V XO© H$admZo Ho$ {bE J«mhH$ Cn¶moJ H$a gH$Vm h¡ - [½]

(A) B© - ‘ob (~) nÌ

(g) ’$moZ H$m°b (X) Eg. E‘. Eg.

To register his complain orally the customer can use -

(A) E - mail (B) Letter

(C) Phone call (D) SMS
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7) gw{dYm CËnmX H$m CXmhaU h¡ - [½]

(A) XÿY (~) Am ŷfU

(g) H$ma (X) ‘mo~mBb

Example of convenience product -

(A) Milk (B) Ornaments

(C) Car (D) Mobile

8) g§dmX à{H«$¶m ‘| em{‘b h¡ - [½]

(A) gwZZm (~) ~mobZm

(g) nT>Zm (X) Cnamoº$ g^r

Communication process involves -

(A) Listening (B) Speaking

(C) Reading (D) All of the above

9) H${R>Z n[apñW{V¶m| H$m gm‘Zm H$aZo hoVw AZwn¶w³V gmYZ h¡ - [½]

(A) nbm¶Z (~) Y¡¶©

(g) gmhg (X) AmË_{dídmg

An unsuitable tool to face difficult situations -

(A) Retreat (B) Patience

(C) Courage (D) Self - confidence

10) h[aV H$m¶© H$m CXmhaU h¡ - [½]

(A) gm¡a D$Om© g§¶Ì (~) ndZ D$Om© g§¶Ì

(g) Ob {dÚwV g§¶Ì (X) Cnamoº$ g^r

An example of green job -

(A) Solar power plant (B) Wind power plant

(C) Hydro power plant (D) All of the above
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11) J«mhH$ g§Vw{ï> hoVw H$s‘V {ZYm©aU H$m AmYma hmoZm Mm{hE - [½]

(A) ì¶dgm¶ H$m A{YH$V‘ bm^ (~) J«mhH$ H$s H«$¶ e{º$

(g) gaH$mar H$a (X) à{VñnYu CËnmX H$mo bm^

Pricing should be based on customer satisfaction -

(A) Maximum profit of business (B) Customer's purchasing power

(C) Government tax (D) Advantage to competitive product

12) {ZåZ{b{IV ‘| go J«mhH$ g§Vw{ï> H$mo à^m{dV H$aZo dmbm VËd h¡ - [½]

(A) H$‘©Mmar ‘| n[adV©Z (~) ‘yë¶ ‘| n[adV©Z

(g) n¡qH$J ‘| n[adV©Z (X) Cnamoº$ g^r

Which of the following is the factor affecting customer satisfaction -

(A) Change in employee (B) Change in price

(C) Change in packing (D) All of the above

13) J«mhH$ g§~§Y à~§YZ H$m bm^ h¡ - [½]

(A) J«mhH$ g§Vw{ï> ‘| d¥{Õ (~) ì¶¶ ‘| d¥{Õ

(g) bm^ ‘| H$‘r (X) J«mhH$ H$s Cnojm

Benefit of customer relationship management -

(A) Increase customer satisfaction (B) Increase in expenditure

(C) Loss of profit (D) Negligence of customer

14) ’w$Q>H$a {dH«o$Vm Ûmam J«mhH$ H$mo Xr OmZo dmbr gw{dYmAm| ‘o§ em{‘b h¡ - [½]

(A) hmo‘ {S>brdar (~) A{J«‘ AmXoe

(g) A[J«‘ ŷJVmZ (X) {dkmnZ H$s ì¶dñWm

The facilities provided by the retailer to the customer include -

(A) Home delivery (B) Advance order

(C) Advance payment (D) Arrangement of advertisement
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IÊS - ~

SECTION - B

[aº$ ñWmZm| H$s ny{V© H$s{OE … [16 × ½ = 8]

Fill in the blanks :

15) Am±Im| Ho$ {ZaÝVa gånH©$ go g§dmX .......... (à^mdr/Aà^mdr) ~ZVm h¡ & [½]

Constant eye contact makes communication ________

(effective / ineffective)

16) C{MV S´>og H$moS> H$‘©Mm[a¶m| Ho$ ‘Ü¶ ............ (g‘mZVm / ôX^md) ñWm{nV H$aVm h¡ & [½]

Proper dress code establishes _______ (equality / discrimination) among
employees.

17) dV©‘mZ J«mhH$ H$mo ~ZmE aIZo H$s Anojm ZdrZ J«mhH$ ~ZmZo ‘| ............. (A{YH$ / H$‘) à¶mg H$aZm
n‹S>Vm h¡ & [½]

It takes _________ (more / loss) effort to acquire new customers than to retain
existing customers.

18) ........... (~§X {gao / Iwbo {gao) dmbo àíZm| Ho$ CÎma hm± ¶m Zht ‘| hmoVo h¡ &  [½]

_______ (Close ended / Open ended) questions have yes or no answer.
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19) ............. (H$m°b‘ / am°) gob H$s D$Üdm©H$ma VarHo$ go H$s JB© ì¶dñWm h¡ & [½]

________ (Column / Row) is an arrangement of cells in a vertical manner.

20) ............. (à{e{jV / Aà{e{jV) Q>r‘ gabVm go bú¶ àmßV H$a gH$Vr h¡ & [½]

________ (Trained / Untrained) team can easily achieve the target.

21) {eH$m¶V no{Q>H$m ............ ({b{IV / ‘m¡{IH$) {eH$m¶V àñVwV H$aZo H$m gmYZ h¡ & [½]

Complaint box is a means of submitting a _______ (written / oral) complaint.

22) J«mhH$ Ho$ ’$moZ H$m°b H$mo Zht N>mo‹S>Zm J«mhH$ Ho$ à{V ................ (gå‘mZ / Cnojm) H$m à‘mU h¡ &  [½]

Not missing a customer's phone call is a proof of ________ (respect / negligence)
for the customer.

23) VZmdJ«ñV ì¶{º$ H$m ñd^md ................. (h±g‘wI / {M‹S>{M‹S>m) hmo OmVm h¡ &  [½]

The nature of a stressed person become __________ (cheerful / irritable)

24) J«mhH$ à{V{H«$¶m OmZZo hoVy CZH$mo ì¶{º$JV ’$moZ H$aZo go J«mhH$ na ............. (gH$mamË‘H$ / ZH$mamË‘H$)
à^md n‹S>Vm h¡ &  [½]

Making personal calls to gather customer feedback has a _______ (positive /
negative) impact on customers.
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25) J«mhH$ H$s g‘ñ¶m H$m C{MV g‘mYmZ [aQ>oba H$mo J«mhH$ g§»¶m ‘| ............ (d¥{Õ / H$‘r) H$m Adga XoVm
h¡ &  [½]

Proper solution to customer's problem gives the retailer an opportunity to _____
(increase / decrease) customer numbers.

26) J«mhH$ à{V¶mo{JVm ‘| ............. (nwañH$ma / XÊS>) {‘bZo na J«mhH$ g§Vw{ï> ‘| d¥{Õ hmoVr h¡ &  [½]

Winning ______ (award / penalty) in customer contests increases customer
satisfaction.

27) [aQ>oba d WmoH$ {dH«o$Vm Ûmam Xr JB© OmZH$mar .......... (J«mhH$ / {Z‘m©Vm) H$s g§Vw{ï> Ho$ AmYma na CËnmXZ ‘|
ghm¶Vm H$aVr h¡ & [½]

The information provided by retailers and wholesalers helps in production based
on _________ (customer / manufactures) satisfaction.

28) AÀN>r ZtX boZo go VZmd ........... (H$‘ / Á¶mXm) hmoVm h¡ &  [½]

Getting good sleep ________ (reduces / increases) stress.

29) "And" eãX A§J«oOr ^mfm Ho$ ............ (H§$O³eZ / àrnmoOreZ) H$m CXmhaU h¡ &  [½]

The word "And" is an example of _______ (Conjunction / Preposition) in the
English language.

30) ................ ({S>brQ> / {eâQ>) H$s go S>oQ>m {‘Q>m¶m OmVm h¡ &  [½]

________ (Delete / Shift) key deletes data.
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IÊS> - g

SECTION - C

bKy CÎmamË_H$ àíZ … [9 × 1 = 9]

Short answer type questions :

EH$ n§{º$ _| CÎma {b{IE …

Write the answer in one line :

31) noaoJ«m’$ {bIVo g‘¶ ³¶m Ü¶mZ aIZm Mm{hE? [1]

What should be kept in mind while writting a paragraph?

32) H$åß¶yQ>a ‘| {H$gr ’$mBb H$mo god H$aZo Ho$ {bE H$m¡Zgr em°Q>© H$Q> H$s H$m Cn¶moJ H$aVo h¡? [1]

Which short cut key is used to save a file in computer?

33) J«mhH$ H$s g‘ñ¶mAm| H$mo gwZH$a j‘m ‘m§JZo go ³¶m hmoVm h¡? [1]

What happens when you apologise after listening to customer problems?

34) J«mhH$ ì¶dgm¶r Ho$ à{VñnYu go dñVw IarXZm H$~ àma§̂  H$aVm h¡ ? [1]

When does a customer start purchasing goods from businessman's competitor?

35) J«mhH$ H$m Ñ{ï>H$moU g‘PZo go J«mhH$ g‘ñ¶m g‘mYmZ na ³¶m à^md n‹S>Vm h¡? [1]

How does understanding the customer's perspective impact customer problem
solving?

36) {~H«$s ~‹T>mZo Ho$ {bE J«mhH$mo Ho$ gmW {H$g àH$ma Ho$ g§~§Y hmoZo Mm{hE?> [1]

What types of relationship should be there with customers to increase sale?
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37) ì¶dgm¶r Ho$ nmg CnbãY AÀN>o CnH$aUm| H$m J«mhH$ godm ñVa na ³¶m à^md n‹S>Vm h¡? [1]

What impact does the good equipment available to businessman have on customer
service level?

38) [aQ>oba H$s godm d J«mhH$ AnojmAm| Ho$ ‘Ü¶ A§Va H$m H$maU {b{IE & [1]

Write the reason for the gap between retailer's services and customer expections.

39) Q>r‘ Ûmam gyPmE JE n[adV©Zm| H$mo H$m¡Z bmJy H$aVm h¡? [1]

Who implements the changes suggested by the team?

IÊS> - X

SECTION - D

{Z~§YmË_H$ àíZ (Xmo n¥ð>mo VH$ CÎma {b{IE) … [3 × 2 = 6]

Essay type questions (Write answers upto two pages) :

40) CÚ‘r Ho$ JwUm| H$mo g{dñVma g‘PmB¶o & [2]

Explain the qualities of an entrepreneur in detail.

AWdm/OR

CÚ{‘Vm Ho$ {dH$mg ‘| ~mYmAm| H$mo g‘PmB¶o &

Explain the obstacles to the development of entrepreneurship.
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41) [aQ>oba Ûmam J«mhH$m| Ho$ gmW g§~§Y gyYmaZo Ho$ {bE {H$E OmZo dmbo à¶mgm| H$m dU©Z H$s{OE & [2]

Describe the efforts retailer make to improve relationship with customers.

AWdm/OR

J«mhH$ H$s AnojmE± nyar Z hmoZo Ho$ H$maU {b{IE &

Write the reasons for customer's expections not being met.

42) S´>og H$moS> Ho$ ~mao ‘| ~aVr OmZo dmbr gmdYm{Z¶m± {b{IE & [2]

Write the precautions to be taken regarding dress code.

AWdm/OR

H$‘©Mm[a¶m| H$mo àmßV {d{^Þ A{YH$mam| H$m dU©Z H$s{OE &

Describe the various rights enjoyed by employees.


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